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Test 1

No books, calculators, notes or cell phones are allowed. You must show all your work, the correct answer is worth 1 mark the remaining
marks are given for the work. If you need more space for your answer use the back of the page.

Question 1. (2 marks) Name a logician and state his main contribution to logic.

o see slides .

Question 2.! Given the following symbolization key:
A: Alexander Berkman loves Emma Goldman

Bj: Alexander Berkman buys bread.

Bs: Emma Golman buys bread.

E: Emma Goldman loves Alexander Berkman.

Fi: Alexander Berkman buys flowers.

F;: Emma Goldman buys flowers.

P;: Alexander Berkman protests.

Py: Emma Goldman protests.

Translate each English language statement into Propositional Logic.

a. (3 marks) Emma and Alexander love each other only if, it is the case that both Emma and Alexander protest.

b. (3 marks) Emma buys flowers and Aleaxander buys bread if, neither Alexander loves Emma nor Emma loves Alexander.
Translate each Propositional Logic statement into English.

c. (I mark) =P

d. (3marks) (~PABy) <= E

W (Er)=(pep) B (AME) 7 (RYA)
C) Emme Goldwmaun does vl y«mftsf
o‘) Ewmenor Goldman buye oread ound does Mwé',orafcgf if aud

0:4(7 £ she loves Alexander Bevkmouvn .

! not historically accurate



Question 3. (6 marks) Determine wether the following statement is a tautology, contradiction, or contingent statement. Justify your
conclusion.
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Question 4. (6 marks) Determine whether the following is a valid argument. Justify your conclusion.

~Fy,(~PyABy) < E .. E
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Question 5. Which of the following is possible? If it is possible, give an example. If it is not possible, explain why.
a. (3 marks) A valid argument, the conclusion of which is a tautology.

b. (3 marks) An invalid argument, the conclusion of which is a tautology.
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Bonus Question. (! mark) Why did you choose to study in-the-tiberal-Axtspropran?
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